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	FORM:
	Agreement with positive or negative sentences can be made using very short sentences and the words SO, TOO, and NEITHER.  The auxiliary verb in the short agreement sentence must match the auxiliary verb in the main sentence.  If there is no auxiliary, use the verb DO.

EXAMPLES:
I am a Taurus.               So am I.  OR     Me too.
I am not a Taurus.          Neither am I.     OR Me neither.

I like taking photographs.    So do I.    OR      Me too.
I don’t like taking photographs.  Neither do I.  OR       Me neither.

Jack can play the piano well.       So can I.   OR     Me too.
Jack can’t play the piano well.      Neither can I.    OR    Me neither.

The same patterns are true for all verb tenses.

EXAMPLES:
I was at school yesterday.          So was I.   OR    Me too.
I wasn’t at school yesterday.      Neither was I.  OR    Me neither.
I have been to Europe.               So have I.  OR    Me too.
I haven’t been to Europe.           Neither have I.    OR    Me neither. 



	Complete the following short agreement sentences.



	1.
	I am in my 30’s.
	So ______________ I.

	2. 
	I wasn’t at the meeting yesterday.
	Neither ___________ I.

	3. 
	I can play a musical instrument.
	So _______________ I.

	4. 
	I would like to have children.
	So _______________ I.

	5.  
	I would never live in Canada for the rest of my life.
	Neither ___________ I.

	6.
	I have studied another language before.
	So _______________ I.

	7.
	I haven’t eaten poutine.
	Neither ____________ I.

	9.
	I had a great time last night.
	So ________________ I.

	10.
	I don’t wear any jewelry.
	Neither ____________ I.
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